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Peter Faulks – QUIZ016

QUIZ016

A Group Trivia Quiz Solutions 

1. Why would the following stand no chance of being approved as official names for British racehorses? - Salisbury Cathedral, Wonderful Terminator, Sexy Disciplinarian or Sea Bee. 

The first three names are all longer than 18 letters including spaces. 18 letters including spaces is the maximum allowed by the Jockey Club, so as to fit onto race programs. Sea Bee would not be allowed because words that sound like letters are not permitted either.

2. How much time elapses between any Sunday 29 February and (going forward in time) the next respective Tuesday 29 February? (This is not a trick question and is reasonably straight-forward to work out if you have that sort of brain...) 

24 years. Given that after every normal year the days of the week advance by one day, and after leap-years by two days, then leap-year days advance by five days each time (every four years). Tuesday is 5 days back from Sunday and therefore one leap year short of a full 28 years cycle (28 years because there are seven different days in the cycle, and seven x four years = 28 years). Anyone not knowing that after every normal year the days advance by one day needs only to calculate that 365 days ÷ 7 (days per week) = 52.142857. The 0.142857 equals one-seventh of a week, ie., a day, which is effectively used from the next year's day cycle, which means that each new year starts one-day forward compared to the previous year (other than after leap-years, when effectively two days are used from the next year's day cycle). A supplementary question is: what year was the last Sunday 29 February? (Again this is straight-forward to work out if you know the current day and date, and have the right sort of brain....) Answer: 1976. The 28 February in the 2004 leap-year was a Saturday, which is not so difficult to work out (two days back from Monday 28 Feb 2005, or three days back from Tuesday 28 Feb 2006, (depending on what calendar you are looking at). Therefore 29 February in the 2004 leap-year was a Sunday. The last time there was a Sunday 29 February was 28 years before that, ie, 1976, and the next Sunday 29 February will be 28 years after 2004, ie, 2032.

------------------------------------------------------------------------

3. The paintings puzzle

An art gallery features a modern work of 'moving art'. The artist stands by a stack of paintings, each featuring a different number. One of the paintings is displayed on the wall. At certain times the artist removes the painting from the wall and replaces it with a painting from the stack. At 11am, the artist hangs a painting of the number 30. At 4pm he hangs a painting of number 240. At 7.30pm he hangs a painting of number 315. What painting does the artist hang at 9.20pm? 

The answer is 200. The explanation is that the painting number equates to the number of degrees between a clock's hour-hand and minute-hand (measured in a clockwise direction). The first three examples are easy if you sketch the clock hands on a clock face and plot the hours around the clock face (bear in mind there are 360 degrees around a circle; the 12 on the clock-face equates to zero degrees, and each hour equates to 30 degrees, being one-twelfth of 360). The puzzle question (9.20pm) is more difficult to calculate than the first three time examples. Here's my attempt to explain it: At 9:20 the minute hand is at the number 4 which is 120 degrees from zero (4 is a third of 12, hence a third of 360 degrees is 120 degrees). The hour hand is at a position equating to 560/720 minutes (there being 720 minutes in 12 hours, and 9hrs 20mins being 560 minutes). 560/720 equates to 280/360 (360 is half of 720, and half of 560 is 280), so the hour hand is at 280 degrees from zero (remember zero is 12 on the clock face). Measured in a clockwise direction, the number of degrees (or angle) between the hour hand and the minute hand is 80 degrees around to to the 12 (at zero degrees), plus 120 degrees from the 12 to the 4 (which we previously established). Then simply add: 80 + 120 = 200.

------------------------------------------------------------------------

4. The spotlight puzzle

A conference room contains three separate wall-mounted spotlights - right, left and front of stage. Each is controlled by its own on-off switch. These three switches are numbered 1, 2 and 3, but they are in a back-room which has no sight of the the spotlights or the conference room (and there are no reflections or shadows or mirrors, and you are alone). How do you identify each switch correctly - right, left, front - if you can only enter the back-room once?

Switch on number 1 and leave it on for 30 seconds, then switch it off. Switch on number 2 and leave it on. Enter the conference room. The spotlight that is on is obviously number 2. The spotlight that is warm is switch 1, and the other spotlight is number 3
5. What famous UK business institution has the postal code CF14 3UZ? 

Companies House (Crown Way, Cardiff, South Wales), a division of the UK Department of Trade and Industry, responsible for keeping company records and accounts of firms registered in England and Wales.

6. Months of the year that begin on a Sunday (other than February in non-leap-years) always have five Sundays. What other notable feature do they (including all Februarys) contain? 

Friday the 13th.

7. What connects these words?... Dram, Colon, Won, Dong, Kip.

They are currencies (as at May 2005), specifically: Dram (Armenia), Colon (Costa Rica, El Salvadore), Won (North Korea, South Korea), Dong (Vietnam), Kip (Lao People's Democratic Republic, formerly Laos).

8. Hedy Lamarr achieved what notable cinematic 'first' in 1933? (If you can state any of her other interesting claims to fame, then award yourself a bonus point for each...) 

Hedy Lamarr was the first woman to appear completely nude on the big screen in a major production in the 1933 Czech film 'Extase' ('Ecstasy'). Born Hedwig Eva Maria Kiesler in Vienna on 9 November 1913, Hedy Lamarr's other claims to fame were fascinating: her first husband was a wealthy Austrian armaments magnate Fritz Mandl. They lived in Salzburg Castle where they hosted parties for Hitler and Mussolini. The castle was later used as a principle location in the film The Sound Of Music. After escaping to London in 1937, and then moving to the US, with her second husband George Antheil, Lamarr designed and patented missile guidance anti-jamming technology in 1942, which the US military used for development work after Lamarr's patent expired, prompting Lamarr to sue (unsuccessfully) the US government. Lamarr's radio-frequency-based concepts contributed to the development of various modern-day communications technology, and Lamarr was finally recognised for her invention by the Electronic Frontier Foundation (EFF) in March 1997. She died in January 2000.

9. With what papers do you associate Sam Weller? 

Sam Weller is a character in the book The Pickwick Papers, by Charles Dickens.

10. What do these Shakespeare plays have in common?... Julius Caesar, Richard III, Hamlet, Macbeth. 

Each features a ghost.
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